
Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 

 

Complete Spare Parts List of  

Martin JEM AF1 

  

92615000 AF-1 dmx fan;220/240v,50hz 

04030066 Capacitor plastic 3mf 

04220034 Potentiometer 100k linear pcb 

05020013 Fuse 3.15 AT, I*I*t=226.5 

05220504 Terminal block nylon 10amp 

05243002 Xlr 3pin male chassis mount 

05247205 Mains soc chassis IEC 6.3 term 

05328408 Crimp non insulated 

05328409 Crimp blue piggy back 

05329003 Crimp 5mm blue eyelet d insula 

05501402 Switch latching push pcb mount 

05550007 Cap grey push in for remotes 

05551044 Knob for ZR22 dmx remote 

05731208 Fan ac axial 230v af1 

08052601 M3 nut black 

08052701 M3 nut lock PA shiny 

08053837 M3x10 stand off f/f black 

08054401 M3 washer lock 3,2/6 black 

08070418 M4x10 tapt black 

08070423 M4x8 ph pz black 

08072302 M4x10 finger screw for washer 

08072701 M4 nut lock PA shiny 

08074401 M4 washer lock 4,3/8 black 

08074402 M4 vistop push-on washer shiny 

08090412 M5x16 ph pz black 

08094303 M5 Washer, black 

08131007 Bolt set m8x20 hex hd black 

08132309 Handwheel m8 

08132605 M8 hex half nut bzp 

08134301 M8 washer 8,4/16x1,6 black 

08190108 Screw no6x1/4 self tapper p 

08220105 3.2x10 Pop rivet steel black 

08220705 Rivet earthing 

08260106 25/8.2x5  Spacer Plastic Black 

08261204 Spacer  Snap-PCB / selftap   , 

08261315 Bush ZR33(flying bracket) 

11501012 1.5 m power cable, 3-pin IEC 

11840027 Cable 6core remotes 

13104001 Strap, black, 2.5x100mm 

18360070 Plate for xlr-plugs,M2000, 



26562541 Cover top AF-1 

26562551 Bracket hanging AF-1 

26562780 Heatsink t/s-haze/clubsmoke/AF 

32020500 Rubber foot 3.6x12.7mm Black 

33190093 Label PE for thermoprint 60x35 

34240006 Plastic bag, 600x850 

62021000 PCBA Jem Smoke dmx recive test 

 

 

Order your Spare Parts here -> http://www.lichtboxx.com/index.php/cPath/158/language/en   

www.lightspares.com I ©MS Lichttechnik GmbH, Hirschstettner Strasse 19A, 1220-Vienna, Austria 

 


